## **WORK ORDER**

**WO No** 46 **Last Revision** 0 **WO Date** 20/04/2023

Project GOODWILL VERVE

**Invoice To** 

CHOICE LIFESTYLE: (VERVE)

Plot No.4, Sr No-163/2B/2, Adarsh Colony, Road No-7,

Tingre Nagar, Pune – Maharashtra

411032

GST No: 27AAOFC1825B1ZR

Dispatch To

Goodwill Verve : S. NO. 35/36, Opposite Venkatesh Graffiti, Manjari Road, Keshavnagar, Pune -411036

Site Contact - William Sir - 7972015369 Avinash Sir - 8668271891

To

## JAI OM SHREE SAI CONSTRUCTION

Email Id: Phone No:

Dear Sir,

You have been awarded following work for subjet project.

WO No 46 / Revision 0 / GOODWILL VERVE WO Title

WO No	TASK Name	SAC Code	Qty	Unit	Rate	Amount
46.0	1st Floor - Labour For Brickwork					
	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.50
Specifications	•		•			
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	2nd Floor - Labour For Brickwork					
	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.56
Specifications			'			
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	3rd Floor - Labour For Brickwork					
	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.56
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	4th Floor - Labour For Brickwork					
	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.56
Specifications			•			
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					

46.0	5th Floor - Labour For Brickwork L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.50
Specifications			1,277.213	54.11	77.00	90,499.3
Γax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	6th Floor - Labour For Brickwork			-		
a :a ::	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.5
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	7th Floor - Labour For Brickwork					
	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.5
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	8th Floor - Labour For Brickwork					
	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.5
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	9th Floor - Labour For Brickwork		1,279.215	Sq.Ft	77.00	00 400 5
Specifications	L - For Brickwork		1,277.213	5q.1 t	77.00	98,499.5
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	10th Floor - Labour For Brickwork					
	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.5
Specifications		1				
Гах Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	11th Floor - Labour For Brickwork					
	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.5
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
<del>-</del>	5.00.0/	·				·
Ret %	5.00 %					

46.0	12th Floor Labour For Printryork					
40.0	12th Floor - Labour For Brickwork L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.5
Specifications			,	•		70,177.0
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	13th Floor - Labour For Brickwork					
	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.5
Specifications			,			
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	14th Floor - Labour for Brickwork					
	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.5
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	15th Floor - Labour for Brickwork					
	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.5
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	16th Floor - Labour for Brickwork					
	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.5
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	17th Floor - Labour for Brickwork					
	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.5
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	Basement Floor - Labour for Brickwork					
	L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.5
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				

Specifications	Specifications   Tax Scheme   ST 18 %	46.0	Ground Floor - Labour for Brickwork					
As Scheme   GST 18 %   Payment   100 % after work complition   100.00%	Ear Scheme		L - For Brickwork		1,279.215	Sq.Ft	77.00	98,499.56
Payment   100 % after work complition   100.00%	Payment   100 % after work complition   100.00%							
Ret %   5.00 %	Ret %   500 %		GST 18 %					
46.0   Terrace Floor - Labour for Brickwork   1,279.215   Sq.Ft   77	Add		100 % after work complition	100.00%				
L - For Brickwork	1,279.215   Sq.Ft   77.00   98,499	Ret %	5.00 %					
Tax Scheme	Payment   Schedule   100 % after work complition   100.00%	46.0			1,279.215	Sq.Ft	77.00	98,499.56
Payment   Schedule   100 % after work complition   100.00%	Payment Schedule   100 % after work complition   100,00%	Specifications		·	•			
Schedule   100 % after work complition   100.00%	Ret %   5.00 %	Tax Scheme	GST 18 %					
1st Floor - Labour For Internal Plaster Work (Tar & Sanla)   1,279.215   Sq.Ft   77	1,279.215   Sq.Ft   77.00   98,499	-	100 % after work complition	100.00%				
Work (Tar & Sanla)   L - For Internal Plaster Work   1,279.215   Sq.Ft   77	Nork (Tar & Sanla)	Ret %	5.00 %					
Specifications   Tax Scheme	Specifications   Tax Scheme   GST 18 %	46.0						
Tax Scheme	Tax Scheme   GST 18 %		L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.56
Payment   Schedule   100 % after work complition   100.00%	Payment   Schedule   100 % after work complition   100.00%							
Schedule   100 % after work complition   100.00%	No.000%   No.0		GST 18 %					
Additional Content   Additional Plaster   Additio	Additional   Add	Schedule	<u> </u>	100.00%				
Vork (Tar & Sanla)   1,279.215   Sq.Ft   77	Work (Tar & Sanla)   L - For Internal Plaster Work   1,279.215   Sq.Ft   77.00   98,499	Ret %	5.00 %				T T	
Specifications	Specifications   Specifications   Tax Scheme   GST 18 %     Payment   Schedule   100 % after work complition   100.00%     Ret %   5.00 %     46.0	46.0				0.5		
Payment   Schedule   100 % after work complition   100.00%	Tax Scheme	G .C 1.	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.56
Payment   Schedule   100 % after work complition   100.00%	Payment   Schedule   100 % after work complition   100.00%		CCT 10.0/					
Ret % 5.00 %  46.0 3rd Floor - Labour For Internal Plaster Work (Tar & Plaster) L - For Internal Plaster Work 1,279.215 Sq.Ft 77  Specifications  Tax Scheme GST 18 %  Payment Schedule 100 % after work complition 100.00%  Ret % 5.00 %  46.0 4th Floor - Labour For Internal Plaster Work (Tar & Sanla) L - For Internal Plaster Work 1,279.215 Sq.Ft 77  Specifications  Tax Scheme GST 18 %  Payment Schedule 100 % after work complition 100.00%	Ret %   5.00 %	Payment		100.00%				
46.0 3rd Floor - Labour For Internal Plaster Work (Tar & Plaster) L - For Internal Plaster Work  Specifications  Tax Scheme GST 18 %  Payment Schedule 100 % after work complition 100.00%  Ret % 5.00 %  46.0 4th Floor - Labour For Internal Plaster Work (Tar & Sanla) L - For Internal Plaster Work  Specifications  Tax Scheme GST 18 %  Payment Schedule 100 % after work complition 100.00%	Additional   Add		5.00 %					
L - For Internal Plaster Work   1,279.215   Sq.Ft   77	L - For Internal Plaster Work   1,279.215   Sq.Ft   77.00   98,499		3rd Floor - Labour For Internal Plaster					
Specifications  Tax Scheme GST 18 %  Payment Schedule 100 % after work complition 100.00%  Ret % 5.00 %  46.0 4th Floor - Labour For Internal Plaster Work (Tar & Sanla) L - For Internal Plaster Work 1,279.215 Sq.Ft 77  Specifications  Tax Scheme GST 18 %  Payment Schedule 100 % after work complition 100.00%	Specifications   Tax Scheme   GST 18 %     Payment   Schedule   100 % after work complition   100.00%     Ret %   5.00 %     46.0				1.279.215	Sq.Ft	77.00	98,499.56
Payment Schedule 100 % after work complition 100.00%  Ret % 5.00 %  46.0 4th Floor - Labour For Internal Plaster Work (Tar & Sanla) L - For Internal Plaster Work 1,279.215 Sq.Ft 77  Specifications  Tax Scheme GST 18 %  Payment Schedule 100 % after work complition 100.00%	Payment Schedule 100 % after work complition 100.00%  Ret % 5.00 %  46.0 4th Floor - Labour For Internal Plaster Work (Tar & Sanla) L - For Internal Plaster Work 1,279.215 Sq.Ft 77.00 98,499  Specifications  Tax Scheme GST 18 %  Payment Schedule 100 % after work complition 100.00%	Specifications	E - 101 internal Flaster Work		,	•		, , , , , , , , , ,
Schedule  Ret % 5.00 %  46.0	Schedule  Ret % 5.00 %  46.0	Tax Scheme	GST 18 %					
46.0 4th Floor - Labour For Internal Plaster Work (Tar & Sanla) L - For Internal Plaster Work  Tax Scheme GST 18 %  Payment Schedule 100 % after work complition 100.00%	46.0 4th Floor - Labour For Internal Plaster Work (Tar & Sanla) L - For Internal Plaster Work  Tax Scheme GST 18 %  Payment Schedule 100 % after work complition 100.00%	•	100 % after work complition	100.00%				
Work (Tar & Sanla) L - For Internal Plaster Work  Specifications  Tax Scheme Payment Schedule  100 % after work complition 100.00%	Work (Tar & Sanla) L - For Internal Plaster Work  Specifications  Tax Scheme Payment Schedule  100 % after work complition  100.00%	Ret %	5.00 %					
L - For Internal Plaster Work 1,279.215 Sq.Ft 77  Specifications  Tax Scheme GST 18 %  Payment Schedule 100 % after work complition 100.00%	L - For Internal Plaster Work 1,279.215 Sq.Ft 77.00 98,499  Specifications  Tax Scheme GST 18 %  Payment Schedule 100 % after work complition 100.00%	46.0						
Tax Scheme GST 18 %  Payment Schedule 100 % after work complition 100.00%	Tax Scheme GST 18 %  Payment Schedule 100 % after work complition 100.00%				1,279.215	Sq.Ft	77.00	98,499.56
Payment Schedule 100 % after work complition 100.00%	Payment Schedule 100 % after work complition 100.00%	Specifications						
Schedule 100 % after work compition 100.00%	Schedule 100 % after work compilition 100.00%		GST 18 %					
Ret % 5.00 %	Ret % 5.00 %		100 % after work complition	100.00%				
		Ret %	5.00 %					

46.0	5th Floor - Labour For Internal Plaster Work (Tar & Sanla)					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.56
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	6th Floor - Labour For Internal Plaster Work (Tar & Sanla)					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.56
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	7th Floor - Labour For Internal Plaster Work (Tar & Sanla)					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.56
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	8th Floor - Labour For Internal Plaster Work (Tar & Sanla)					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.56
Specifications			•			
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	9th Floor - Labour For Internal Plaster Work (Tar & Sanla)					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.56
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	10th Floor - Labour For Internal Plaster Work (Tar & Sanla)					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.56
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					

46.0	11th Floor - Labour For Internal Plaster Work (Tar & Sanla)			G F:		
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.5
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	12th Floor - Labour For Internal Plaster Work (Tar & Sanla)					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.50
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	13th Floor - Labour For Internal Plaster Work (Tar & Sanla)					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.50
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	14th Floor - Labour For Internal Plaster Work (Tar & Sanla)					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.50
Specifications		1				
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	15th Floor - Labour For Internal Plaster Work (Tar & Sanla)					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.50
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	16th Floor - Labour For Internal Plaster Work (Tar & Sanla)					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.56
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					

46.0	17th Floor - Labour For Internal Plaster Work (Tar & Sanla)					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.50
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	Basement Floor - Labour For Plaster Work					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.56
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	Ground Floor - Labour For Internal Plaster Work (Tar)					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.56
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	Terrace Floor - Labour For Internal Plaster Work (Tar & Sanl					
	L - For Internal Plaster Work		1,279.215	Sq.Ft	77.00	98,499.56
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	Duct - Labour For External Plaster Work					
	L - For Duct External Plaster Work		5,116.870	Sq.Ft	77.00	393,998.99
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	East Side - Labour For External Plaster Work					
	L - For East side External Plaster Work		5,116.870	Sq.Ft	77.00	393,998.99
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					

46.0	North Side - Labour For External Plaster Work					
	L - For North side External Plaster Worl		8,528.115	Sq.Ft	77.00	656,664.86
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	Labour For - Parking Area, Top Terrace, Staircase, LMR&OHWT					
	L - For Parking, Top Terrace, Staircase,		1,705.625	Sq.Ft	77.00	131,333.13
Specifications						
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	South Side - Labour For External Plaster Work					
	L - For South side External Plaster Worl		8,528.115	Sq.Ft	77.00	656,664.86
Specifications	·					
Tax Scheme	GST 18 %					
Payment Schedule	100 % after work complition	100.00%				
Ret %	5.00 %					
46.0	West Side - Labour For External Plaster Work					
	L - For West side External Plaster Work		5,116.870	Sq.Ft	77.00	393,998.99
Specifications	-					
Tax Scheme	GST 18 %					
Tax Scheme						
Payment Schedule	100 % after work complition	100.00%				

<b>Ret %</b> 5.00 %	Ret	%	5.00	%
---------------------	-----	---	------	---

For Total Work Order		For Work Order Revision	_	Total GST For Receiver		
Contract Amount (A)	6,566,642.01	Contract Amount (A)	6,566,642.01			
Total CGST	1,181,995.58	Total CGST	1,181,995.58	Total CGST	0.00	
Total SGST	0.00	Total SGST	0.00	Total SGST	0.00	
Total IGST	0.00	Total IGST	0.00	Total IGST	0.00	
Total	7,748,637.59		7,748,637.59		0.00	

## Special Note:

This Work Order shall supersede any and all communication that has occurred on this issue. HNBEPL reserves the right to modify the scope of work through written communication in the form of any amendment. Any modification to the Work Order due to whatever reason if required shall be entertained only on acceptance of both parties by signing the amendment to the Work Order . By accepting this Work Order the Contractor accepts all terms and conditions enclosed herein with without any deviation.

## Remark:

27AAOFC1825B1ZR Companies GSTIN No:

Maharashtra State:

Companies PAN No.:

Corporate Identification No.: U29299PN2005PTC020745

Prepared By Project Engineer C.F.O. Director Technical & Projects Contractor